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Put the following active sentences into passive:

1. The company didn't choose the new designs<
2. The artist wasn't speakin_g about the sculptures.
3. Has she understood the consequences? ,
4. Tamara won't hide those bouxs
5. Susan rnus_f pay Thg waiter.
6. The pilot thies and mfain;rains combat helicopters.
7. Does Pedro San;hez hear the speechef?
8. Was John blowing bubbles jn.the park?
9. Th.e Iangeage students will Tr?’ra something.
10. He didn't meet the Queen of England.l
/11. You can't leave your suitcase here.
)12. Are you feeding the brown pony?

*13. Tommy wears Vans trainers.
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14, :l'he choir doesn, sing those songs.
15. Are they g;omg to bring fresh juice? .
) 16. Does the presenter read and write the news?
17 Was he waking up the soldiers?
18. They aren't having an excellent meal.
19.Pam has had dessert. .
| 20.The artists are going to show all their work.
21. Are we eating more rice?
22.The teacher is going to feel the smaoth shells.

23 .Will she have more children?

') 24.They might catch the early train.

25.1s hi;' unclé leaving the dog there?
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